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. Ali questions are compuisory, each quesuon carries one mark. -
3. During the examination, '
* Read the questions carefully.
- _.» Completely darkeryshade the re%evantoval agamstQuestlon No. inthe OMR answersheet
using blue/black ball point pen. Do not try to alter the entry and not to do any stray
~ marks on OMR Sheet. | - | -
s Ex:in aquestion paperif No. 3 is the correct answer for Questlon No. 20, then darken
- in OMR answer sheet shade circle 3 using. biue/black ball-point pen as follows.
200D @ @ @ - (Thisis an example only) |
4. If more than one oval is darkened for a given queshon such answer :s treated as
~~ wrong and'no marks will be glven : - )
5. The candidate and Room Supemsor should- sugn in- the OMH eheet _ ke
6. Candidate shouid return the OMR answer sheet only to the room superwsor before 1
leaving the examination hall. - ' :
7. The caicuiator mobrles and any other electronic equrpments are not allowed inside
-the exammahon hall. . - o = : ' 5

. English version of the question paper will be constdered as f:nal in case of any dISpute
ansung out of vanatlon in translation version.

1. The Question Booklet contalnmg 100 questions and the OMR answer’ sheet is
b ' glven to you. ' : '
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- moung, PO mEgy W0t
(Questlohs :1~9) o (@%ﬁ% 1-9)
Directions : Complete the given number/  xpulnsd : é@éétjaas Todrodbneos
letter / figure analogy by choosing the correct pifafouisin] W?ﬁ“&a 2308 %@ééd}:) 20339 )/

answef from the given alternatives. w30/ 8Ny maﬁ%@ﬁ@&a ‘_!’ce;as*az-‘ﬁ.ra@?u.
1.496 : 204 :: 329 : 7 | |
1) 90 -
2) 110
3} 115
4) 185
2, 1@ 07 20
11 110 156
9. 9
1) = 2y =
) 17 ) 13
11 11
3 4) .
) N3

13

3.11 18 32 60 : 17 30 56 108 :: 13 24 46 90 : 7
1) 17 36 68 138 ' |

. 2) 19. 30 52 124

3) 19 36 70 136

.4) 19 38 70 138

4 FLOWERY : 21012D2212:: BUNCHES :

1) 25 F 13X 19V 8
2)2F 14 X8V 19
3)25 H13P 19 R 8 -
4 2H14P8R19

5. AWSXC : RNJOT :: ? :UQMRW
| 1) FAVZD |
2) DZVAF

3) INRMH -
4) DINJF
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1) DKCFA
'2) BIADL
- 3) AFCKD
- 4) LDAIB
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GMAT(K-10)

(Question: 10) o (s_ﬁ_,é

10. P, Q, R and S are four persons 10..

_ standlng at the corners of a square

park of area 100 m x 100 m. ‘They

. move anticlockwise along the edge

of the park by 100 m, 150 m, 200 m

and 250 m respectively. Now in which
direction is Q with respectto S 7 .

Se — eR

 pt———*q

1) Southeast

2) Southwest .
3) Northeast
4) Northwest

(Questlon 1) | - (@3, : 1

: 11 A person starts from pomt Aand 11,

walks 800 m in the northeast direction
to reach B. Then he turns towards
~east and walks 350 m and reaches
€. He then moves in the southwest
direction by 650 m to reach D. He
again moves by 250 m eastward and
~ reaches E. He now walks 150 m in the
- southwest direction and finally arrives
at F. Find the dustance between A
and F.

1) 400 m

mmmewmeMmm

100 e x 100 e ;‘D»csa?cs z.,ocsa--_

Ry TR, as‘:s‘ RIRENYY

P, Q, Flabza Smc.b c.'o’am%a aoamd

Rty eV :‘dw eﬁozsseb wawa ramn'

i 100 e, 150 s, 200 &JC 53333

- 250 coe Ted %&3.«3335 QxS co::od

oSo'aa's a&a’@mé’ ?

: ND’ h
MBI,

1) sReod
2) -5@35335 ._
3) SR,
_)_ mo:bmzs o

%) aiaa:’m Aaaocdasaaocs BRTLD
5&%;{5 a&se‘ﬁ 800 e O B oS:m

' 3@:&1:333'5 6035 WA &65@ 350 a:c
LR C oS:ab BOTTTR. @@oﬁ r~3c533'S
D3RO 650 2ot @O% DA u;:bagé 3

AT DIRY 250 cw¢ Rdmh ER wom
8o abz% s’:e,cb% Q&3O 150 ¢ FEWL
esoéa:bmn Fe.-:ab Swazba*é A 020
FR s ti_radd_a:g ?.

2) 500 m
3) 600 m
4) 800 m

5
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(Questions : 12- 16) | (3R : 12-16) _ !
Directions : Identify the numberofspemfled nRuEInY  FYNR &aajdc@’ zasrfe;@-: j
geometncshapesm the given diagramsand . RS /NSO BT &mﬂ ~o.930303b i
markthe_correct answers. = ' 'ﬁorﬁa&@zﬁa eroédaia'b r{;daéw ©q
,_ : | _j
12 How many SQUARES are there inthe 1_2. BRI es%&,a:’ng’.aw% @6?1@_5 ? =
givenﬁgure" ' _ > LR S M _ lE

; !

1) 23- {

2) 22 \

3) 21 -3

4) 20

~13. How many TRIANGLES are there in’ 13. &fa&éd:d -e:s%éoﬁcg DT, g&ﬁ:uﬂ@ﬁ ?
the given figure ? _ . i

1) 23..-
2) 22
3) 21

4) 20

._14 How many RHOMBUS are there In the 14%@%&5 e.:s%éoi:cg igqad&_ﬁ%éﬁ?ﬁ ?
gwen flgure 1. il _ R . emiat B s mike g o

1) 16
2) 17
3) 18
4) 19
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15. How many SEMICIRCLES aretheré in 1. $aLiess UR30hY o YErREnes 2
- ___.__the' given figure ? o : : . ® " SR '-

1) 28
2) 26
3) 24
4) 22

16. How many TRAPEZIUMS are there in 16, 82titoT ©B30RY O JRAHNAYE 2

the given figure ? _ :

(Questions : 17 - 18)

Directions : Find the correct mirror images
for the following problem figures choosing
from-the alternatives. T

(FBAeh : 17 -18) -
Brusns : fouthw FIouEner
HOOIRW WHFR TIWOWNYIY,

- Bosweodhneor 60@&@0&6.
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(Questions:19-20) . (ZBAsv 1 19-20) | ]
Directions : Findthe correct WATER images ~ BAuSnsh : 3ot Izosgnon J
for the following problem figures choosing = ‘%0037 2 TSROWNTI, _. .__;Jf
from the alternatives. -  B3eF0dNRYOT  BOBEROWD. \




GMAT(K-10)
{Question: 21)

21. At present a boy’s father is 6 times

IR T ||lﬂll,l_llllﬂlllllllillli

(ﬁ 21)

- older and his grandfather 13 times
older than the hoy. I six years later,
the grandfather will be seven times
older than the boy, what is the present

age of the boy’s father ?.

1) 36 years 2) 42 years

3) 30 years ~ 4) 48 years
(Question : 22)

22. The present ages of a son and his father

(=8

are intheratio 5:21, Four years earlier
their ages were in the ratio 3: 19, What

is the present age of the son ?
1) 4 years 2} 6 years
3) 8years

(Questions : 23 - 32)

4) 10 years

23. 2, 22, 31, 58, 139, 382

b
f@\t )
- Directions :. Complete the following number/

letter / figural series by choosing the correct
- answer from the given alternatives.

" ;(’Z,\i’ 1) 4SRENLD

21, W) a‘:wﬁs 3060& mm 303N

Sobmy BhTon HS HNE BobR
63y, TRe 13 84T, =0l &>
 REFre 5030 IS [eHT IS
SoBhas awdmgdﬁ DEAS Fordedn
Bing SohAzy 2

1) 3BTHENAD  2) 4zm’mm .
8) 30 wT|EA  4) 48 aurﬁ%

: 22)

22 2oy, F0T S0 X 305305‘) ama a:ﬁobzbri‘#

_a;.msa 5 : 21 i e, ST %008
wRD F[eXoAe Tkweo 3 1 19 Whd,
TREE SRS HNT TR, ?
2) 6 WT/F W

3) BBIEND  4) 103 FTive |

(gﬁ ned 1 23--32).
mwéﬂ% %Ja&sdaa ""ojoas'odm@ocj
o0 mzdam 0% VNS Nom/

T 3TN 56?5(1%‘553 mwrﬁm@ﬁu.

1y 17 2) 18 stz b
@4 420 w7
24, 12, 9, 27, 23, 92, 87, ?, ? el
_ _ | ! _ _ g ’5)’){6-*@16)
1) 355, 349 2) 385, 379
;o 1 8) 425, 419 4) 485, 429 M6l 30c-6 )
25. 47, 7, 69, 28,2, 7, 125, 1344, 159, 13440 @L’TJ '_Q
1) 94, 158  2) 95, 168 )
3) 95, 17 96, 268 - H-bfy—
| | ) 95, 178 4) 96, y;%{ Il = 5 135-4)
26. 5 25 105 , 1705 | -
11°30° 87" ' 7M1 '
oy = g) 320
258 - 261
3) 625 y 1128 fe -
| 389: 760 i
‘. . g ' - L S ”/ -
ey Gx %?!é}- 312 % ; /
5 s o6z Qo o
[ (,' Y :
% 14 ‘%J ¥ WA0x A5
_ , \ 5 = 1_%;_0‘
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27, mjrp'fn:m_i ~an " | \

. Hmmnnmn  2mnnmnm
' . ) nmmmnm 4nmnmmn,
28. WMCS, IYOE, _ GWMC L

1 UYOE 2)QAKU
. By UKAQ 4 PBJT
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(Question : 34)
34. Six elephants P, Q, R, S, T and U are

GMAT(K-10)

(Question : 33)
33. A, B, C, D, E and F are sitting around

a round table facing its centre.

a. Cisjust leftof E

b. Ais the only one between Dand E
c. B is sitting opposite to E

d. Dis the only one between A and B

Then where s F sitting?
1) Between B and D >(
2) Between Aand D X
3) Between B and C
4) Between A and C

weighed. The elephant U is heavier

than R but lighter than T. Elephants P

and S are of same weight. Elephant Q
is lighter than P and R is heavier than

S. Which one of the elephants is the
heaviest ?

'
2
z

33.

IIIIIIII\IlI\I ||\I!III\I|||I|\\II|I|| I||I||\II¢ |||| IIIl.

: 33)

A,B,C,D, EsS:zb F 2,00 T0Teeess
tlc) 20wy FER Snd =N
s:%mod.

a. Coto B 33rom AEIIRY B8

b, A wpde D3 E T, A
c. B Ech QmboR ocinh wms

d. DaRe A3 B D, s
mmcsc? Fo wvsms? |

1) Bao®) mecjej '

2) Aﬁa@ DEZbE;CjJ e

3) Baﬂae‘gcmqs

4) Amégncmz,jécs@

: 34) : P
. P,Q, R, S, T3 Uwcy <Inesy,

30T wRBFwNE. U eséoiao R noa
LRTERNT, =53 T o3 RSN, P
3 S FehBRTE WRNH. QuIeds P
nos @S s:bs: R 5208 S N3 LR,
Tomnd fa@m#@ 3,03 z,wdasard 583
OSEQCSD ? ;



o (Questlons 35 40)

- 35 1) oj’l ._ |

- ‘andoneiis dlfferent

~ Directions :

| four groups of numbers 4 letters /. pazrs of

* humbers are giver. Of these,three are allke'_::-f"s'-' ©FaNe rhozhriy. Foey,

-_._.%Jaésa’» f&@ﬁf@@ TR auoc:b Ded facj%._ o E
_:.I:_.\,EQOCSD m?o zpsﬂmﬁzﬂ 2{-’)5 mﬁd}@dm o

| Fmd the one whlch is.
”d*fferent L

.

o3)ie272 o
4) 18,342 -
-4) 4 80

(Q uestlon 41)

41 If R E L I c Is coded as 74 3 6 5

_’.and ANTHEM a52901481hen

. M ERCANTILE . can be written

By

- : ’j_';_l._i-':-.',',,'_(c_.ia's’ reb 135~ 40)
In the foilowmg questlons;_}._,. '-guaa'a'éﬂﬁb & T f\ab

*  gaokmorthe ,Joé%ﬁ%*/ﬁ@@ Ry
Bosmeobriedy

UL 3) FLYFOT - -

||I|||l||l|||| IIIII!I\II IHIIIII ||I|| II|I| ||II}|I|| ||l|

"’ E i’a %"@

mii‘ﬁ@w _ |
39 1) LONGITUDINAL

2) TRIBUTARIES

3) AGRICULTURAL o
4 MOUNTAINOUS e
1) ASYLUM - e

2) _RHYTHM__ g

aocﬁ o%eé,maacsa

)8427369054'
 2) 8439695704 BT R
457630214 . 0o
8475200634 0 S

o ,'._-FIELIC asa 74365@0:3: a:bs;"
xoscams MER c A NT ! LE ab




 GMAT(K-10)
_ (Question : 45)

" 45. Diréctions : When - and-— 60 ‘and
20 are interchanged, find which one of

. the following equations will be ¢orrect.

nnnumm||||u|u|m|||_||||||||||||'||||1.|||'|J||i

(Y, : 45)

45. RRWEIND - 6.3333
eaTien 2ITeD mamﬁ e &@wdaa:s
TodIem Bane3Tey) N@Qﬁwﬁtbéﬁ

'aomdab B0@E&HABOND.

- %o

) 100 80+60><2 20

'2) 80>

=302 66 3 4,80

© - 3) 100% 80'“2‘6+60><2

. - _4) 80=
(Question: 46) .
48, Directions : The interchange of
~ which. of the given numbers / signs in
the alternatlves will make the given
equanon meaningful ?

~1)8and 6

' 2) +and -
3) 3and8
4) x and +

(Question : 47)
47. Direction :
~#.V stands for x
" A stands for +
y stands for —
A stands for +
Then, which of the follewing will be correct
equations ? -

T2 ,-\64/1\ 16
2)48 A 12 V 16
3)72 A 24 V 8

4H16 V 8 V 72

(20+3)x6+8 -32=76

20_ Zefx 2440

(33, 46)

46 RAWINH 1 Wodnrodnyd %mé\%c‘oaﬁ
o3 NOij'\'%i)/ 2357@'{-30 @Cﬁ@O

20TIED m@wﬁ %faégdaa% Na':ofe%dsa@
| OPFBROFWONDZTT ?

1) 8 ms: 6
2) +E -
3) 3AB
4) x ) +

(23, : 47)
47. BAISAY ¢
Vo3 x Bﬁﬁ
A O30 + 3038
v 3o -und
A O+ ws
se NS AR 2.0 XENETTHRTY) TOOSTAN
‘3533:3 ? '

<16 V 8 v 72
> 80 V32A24
<48 A 16V 32
>80 A 8 N 48
14

aoa’néo 203y,
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(Question : 42)

LU III\III.I Iilll!lll-_l_lﬂ-llll.-“ |

(@3, : 42)

42 The minute hand of a clock In. the_

“horizontal piane is on the number 6
~ of the _clock and is pointing towards
west. If the hour hand is pointing

towards southeast what tlme will the -

clock show exactly after threa hours:

from now ?

1) 1.30 hour

2) 4.30 hour
-3) 730 hour -

-4y 1030 hour - - -~

(Questions : 43 44)
~ Directions :
choose which set of signs from the given
 alternatives to be substituted sequentially in

To get the correct equatlon )

places of (*).

43.15% 3 * § % 16 * 41 |
Sy =+ -

2+ + =
3) — 4+ +

'g,)(x'+

4413 x 4 % 5 * 12 * 6

1> 4+ X

2) X +

3 X 4+ >

Il

4 X +

13

(e
- Xeudngd
THORLD &ratsdaas ol WROH- risaasm
(%) mrfﬁ%*@ EASERph e&cﬁeé zSe'& o
ROOTITY, wOSJDFOCbﬁ@POCS. “330»_

42, @a'a‘ BRBOUQTLSR 390533 ﬂ@oﬂ:s‘add
_aaa-‘zs a'bo% wdd@a‘a ,-403%65 ﬁe@z:b
..wéﬁ: ﬁ%ﬁ: wz&ﬁ:éd notEcd E:ba@éa
'e:?rgcoda o rs;dd ﬁaomd@ éenaod
xocd®n - oy
AehohT[Ry, RAWHIS 2

1) 1.307?0&3
2) 4.30 108
3) 7.30 joed o
4)-10.30M083 -

43 - 44)
. TO0INT Nmesdmam _
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(Questions : 50 -51)
Directions : There are 120'_stud_e_nts ina
class. Among them, '

a,

50.

51.

20 students p!ay both hockey and a.
kabaddi, as well the same number of -
students play only football.

25 students ptay both hockey and
football, ' : b

15 students play both football and
kabadd. _ C.
The number of students who play only
hockey are the same-as the number of  d
students who do not play any of the three
games. '

The number of students who play only e,
hockey is half of the number of students
who play football only.

How many students play only - 50.
kabaddi ? o |

1) 10

2) 20

3) 30

4) 40

How many students do not play any 51
of the three games ?

1) 5
2) 10
3) 15
4) 20

16

|lIIilllH!I_!I|_I1I||I_|lI"|||_I'I|IIl|I||IIiIH!IlIII_III’III! |

(""é ned : 50 - 51)
mzéﬁmb 2,003 Sdﬁaod,eﬂ 120
&‘Jm @Fﬁ@md wﬁd@

20 &m&rﬁ@;& m% méa ﬁua

DTRR e:s@;am?aﬁ: RTY mma @cSe
No:ﬁodo e‘:)mﬁ;?:meut @Wmcf adsaé
e_-scabaw

. 25 @m@;ﬁ% Tod a:b:a‘a w&:fwae;‘.

el ¥r) @tﬁ:mtﬂ : .
15 éats‘aé)r-"ﬁ@éa wmcf ESD'C‘:\”D ﬁ&)@

C RTBR eﬁcéo@“ﬁ
. Dotodbad, =g ST RHoagods

RT &sé,amﬁ el odaa@dara &sdde
RolovnInle) ozﬁﬁ *‘mmﬂ&a’d

TDFOLTY, a:icaz% Siev et ol g
.»aoaSod:o THEF Lo’ =R, wcéoﬁﬁd
Noﬁofo Slatatlioviw i

O WP BWBCRY, mg
Clevorle) '?

. T TW @rr{@a Hhate wwne f@é

oﬁa@dm SBHOY ?

e T

e e e o e o

ST SR

e m i e i

[ PSR
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] (Questions : 48 - 49) - ' (|3,rish 1 48 - 49) _
" Directions : The foliowing Venn dlagrams . mweﬁe 8 3YNS 555‘ 23 _ﬁ%‘a moi

represent the relation among four given - BRNONTOD euoqﬂdﬁo RPWXI:S,
objects. Indicate the appropriate Venn = :douoqmab mamd NOO&EES ﬁ&‘
d|agram to represent the relatnonshrp A ﬁﬁo rbd:n%n: ' : N

48. Quadrilaterals, Rhombus, 48, weARBrER, ssaasenea
Parallelograms, Squares DeRTe030 zﬁ&z.'ﬁbrzsri%*o z?airieéa
1 A
2) B
3) G-
o
49, Grandinothers, Sisters, Mothers, 49, ez,ébj;d;, nRBoer3dods, eeoiaent:b,'
Sisters-indaw = o eﬁ%ﬁ-—m&&@& o
D
2) C
3) B
4H A

2%
P
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(Questions : 54 - 55) | (J3n<h : 54 -55)

Directions : Find the set of figures which mzﬁﬁmb 8 391 Btdtha 28 ji%‘lef)
have similar characteristlcs choosmg from MGQDESOSE msa@mmw 25@71@ Reoss),
'~ the given alternatives | o | BOITFODNLOT t?@N Soﬁa&oaobab

54.

A B C | E F
1) Aand C L | T ) ARDRC
2) BandE  2) B DRE
9 FandD GRS

. E + F
1) AandD 7 | 1) ADHD
2) CandE SR | 2) CRRE -
3) DandF o'l 3) Daioég F
4) BandF - 4) BR&F
(Questions: 56 -58) = = | ([Bnsb : 56 -58)
Directions : Identify the wrong number / Auaza’ﬁﬂeéa &faésdoai 5@93?1%*@ 3"?t5
group of letters in the series .~ ﬁog% / Q:‘Jgd_ﬁ@; mOwc—\b 3065300@0%0
56. - 5, 35, 220, 1050, 4200
' o) 86
2) 220
3) 1050
4) 4200

18

5 A P17 S . - ML L SO Sy

iy i il e
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: 52 Statements

PO W S DIPTSR Sl S b
s B h S T -

(Questions : 52 — 53)

true and decide whloh of. the conclusrons
' 'mcsmmsﬁ aocﬁ: aqﬁs‘od

loglcal Iy follow from the statements.

a AII buses are shlps

: b All sh:ps are aeroplanes,
Conclusions :

Some aeroplanes are shtps
1. Al buses are aeroplanes.

| ‘l) 'Orily conclusioh { follows

2) Only conclusmn I| follows

3) Both conclusuons Iand Il foliow

4) .__Ne|ther co__nclus;on | nor H follows

- 53. Statements

a. All sparrows are crows.

b. Some plgeons_are sparrows.

Conclusions :

|, Some crows are pigeons.
N. - Al pigeons are sparrows.
1} Only conclusion | follows

2) Only conclusion 1l follows

3) Both conclusions | and Il follow -

|
|

; ) |llIIlII|I|I|I|Il|||l|||l||l|IHIIIIIIIIIIIIIIIMI_'

_ o (gérteéa |62 -53)
~ Directions : Take the giv'en statements as

| Xpudng : S9R BOHDR Bedtne Xo
0T ZQBQDN, oo asoFo&@ oaﬁr'ﬁ’mﬁ

l

52 %e@irt@a
IR a. QQE wmﬁm acsmmt
b. ew'a 5@’?{)71% a:oaaﬁﬁeéa

asasrosarteéa
1. Bow SRBEND S,
Il peg ARG IRP/AW..
1) 8680 RFOD | WRHRODIS
2) l%eaﬂv drerad i wmaoméd
'3 asaa-'odomfo Iabéo ll adcs.ra
@Eﬁbn@«@@ﬁ . -
4) Ebsel-odo | o |- odma@d:ai-
‘@Cﬁo - ‘

53, oce::sma

- 4) Neither conclusion | nor il follows -

17

‘a. 2R rl:uaérl@m @ﬁrleéa
b %@@ TOTOENH rbmgrt%

awro&ﬁ@eb -
. %@@ Foringd mom@m%*o
I. m:o womvérl%i.ra rbmgﬁféo

1) %eaﬂo asorod: | oaﬂ:ﬁoméd :
2)) eRe Rrorod 1l wRHRORIW

3), Reorohred &3 Il &TER
@mﬁoxbw | '

)lmaa-odo | @wm I o&aa@cm '.
SDRODPOY -
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 (Questions:64-67) . (3Bpeh i ea-67) S

- Directions : Find the missing part of the ~ ZRuRnH : YW ey ©v 3NV

given figure from the alternatives. R BRENTIW WIW RoNI I,
: -' - FIOTRFORNVOT TOTRROND.

e

AN | 1) 2y oy 4

B>

R ) I B e

66.

20

B L A

~ ' " < | <A
> 2 R 8D &R
* wy W
oo -2 3) 4

et e ki ey o g e —
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GMAT(K-10) | ; I OO
57. 256, 343, ‘64, 49 16, 721 R
2)49
82 -
4.1 N o A R .
5&; .-YwTP;,_vTQMw SQNJT Tpngﬁi MKHDN
o R y ENLIG. o SR
f_)SQNJT I
HYWTPZ R Lo T

o (_Q'ue'st.lion : 5-9).' | | | - s @%: 59j

59. The difference between two numbers 59 oW RoBAd [T 6 I wPHne
_ __-'.is 6 and the average of their squares - a:SﬁE"ﬁ%* Xoexd 234 'ﬁmwd = HTTD
'_ is'234. What Is the average of the two - ».10552;1%3 :ica:b ‘D?‘B 2

__numbers‘? ‘
o : '1)-~1-3--- o 2) 15 .
3)'-16 4 18

. (Questions : 60 - 63) (géﬂ%"a 60 - 63)

Directions : Flnd the missing number in the wa&’éﬁ%‘b | %Jaé..’; (eTN] a:raa’ g %?’ Q

'gwen matnces . o wwa'&raehdaas 093053650 5053350@&33@

60.10 12 29'?75;?ﬂ"?' S ,61¢_128,;76 T
28 27 132158 18
322 14.2 1372 28
)31 . 234 w7 272
33 . 444 '&ﬁ 7iq®

1
i

62,87 42,19 63..9 e 39

) N D S -“-p5.14ﬂ43 .
37 3.2 T

@

SR )50 . 262
1) 13 2) 14 _ 6;3 ’4 .6,;
15 416 S 3)_! o 4) 89

] " |



GMAT(K-10)

7. TO/L_«]\“
—{ 54 I
e

72,

1) 208

3) 164

(Questions : 73~ 74) - _
. Directions : In the qﬁestions_below, a
problem figure is given. The problem figure
is hidden in one of the figures given as
‘alternatives. Find the figure in which the
problem figure is hid_\d'en. -

73.

Mo OA oo o oo

1)

2)178
4) 144

(T 1 73-74) o
Ratidne: O SUR oS WYY
LOTD TpoiZgw, BoL. St TTRWER)
Boeihas Wedme ob 8FNY H rine
OTTQ 3N, odea Fodorod WIEY
B VBN HOLOTB, FOTHROWD.

22
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' _._-'_5;_GMAT(K-1 0)
: __(Q uest:on 68)

o (Questions 69 ~-72)
.. Directions :
o numbers'i in the figures are related. Identlfy
... their relatzonshlp and find the mlssmg
_'_:_'numbers in the gwen series,

68 !n this problem : o

L. A<BmeansAis. daughter of B
ik A>BmeansAlssonofB L
||| A = : B means A is brother of B
w A+B means A is father of B,

grandson of S”

In the quesﬂons below the -

Whlch of the foIIowlng indicates “P Is_j{- F

1 P Q<R+s-j
3) P+Q= n>s;;_
| (3 res :

B I||I|i||ﬂliilIﬁl-lﬂ_ll!_ll_lllHll[_l'll 'I_III.I-EIIH,I;IIZ_IEI’

68, é&ﬁaﬁ:,% S E
" iA<BaoddAo&nBo$adaﬁe§a

i A>Boomd Acts Bep bR -

il A =B aond Acky Bob AR pew

. " iv. A+B=‘OOCS$A033:> BOﬁ: 30!3

'se.ma'@nea@ aimm "pos:: ss
ss;asm” ot ,mas:bzd 7 |
2)PE>Q R<S

4y PQ+R=8

69-72) co .
wa&a’:ﬂ% 8y %@e’ﬁ %.raﬁtbaﬁ "’éﬁlﬂ@@
RECLA amfé'}doaﬂ Ros3ned. moaooqswab
moaas g ouoqswm o8y aagm%@ i
wwmeﬁcfoas Nosﬁéﬁ%ﬂa’a ﬁo@&;@o&ab




GMAT(K-1 0)
(Ouestlons 79 - 80)

Dlrectlons Given below are two matnces' &
contaanmg letters. The rows and the columns

~are ‘numbered 1 to 4 in Matrix | ‘and 5 to 8

in Matrix Il. Each letter from these matrices -

are represented first by its row number and .

" next by its column number.
Ex : Lefter “0” is represented as 14 23
- 31, 42. ' '

(1]2]3|4
M|E [N |O
Tn[molE
|O|N|E|M
|E[O|M|N
Matrix - |
BRIH -1 -

79 Which set of numbers will :represent

_theword RATION ?

o:baai Ros3ne neosy RATION@ow N

: mdaab RRWWIB?
1) 77,56, 88, 78, 42, 34
'2) 85, 87, 56, 57, 24, 4.

3) 66, 76, 75, 65, 14, 21

4) 58, 68, 67, 22, 31, 13

(ZBnied : 79-80)

Rousns a1 29K esdwm emw
QTR B FRID, i:aasd ms% q
89 1003 4 =3 msé I1-5) 5eoz:$ o
Bﬁroejﬁ@od w@ﬂv TR DB

Noep’rie;a’o RPWRT:  BIDFBO aﬁa—

@ﬁdﬁm ﬁracﬂ@o WTT DD ~033 abso

: as’osd e:vcﬁd R0%3 Noeﬁoaoocs N.ezaz]cs

24

VTR : @ﬁd “Q” @m Eneﬁ Nmsnrd
14, 23, 31 42

“|5|6|7]8
5|A[T]1R]
6. .| -R: I-T. A
7lTlalr[1]
s|R|1[A]T]|
Matrix-1l
I

80. Which set of numbers will represent

theword INMATE ?

wcﬂﬁﬁa n@zsaﬁgd? ._

' 2) 78, 13, 34, 55, 6?"--23---..__._._ :
3) 57, 21, 43, 66, 88, '12

' 4) 86, 32, 22, 68, 56, 41

|||I|||I!III1I|||I||I|!I |||II|lI ||I|| II|I|HII||I|| |l||

S UL S LI L I I L St 0

3w NO@SES”@;’ neosy INMATE&DO&J

P o il S P P e R 04

LT

T (e A, i M g S 1 e U L, 4 MO 1 st P 3 S O T
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;t GMAT(K-10)
(Questlons 75 76)
Directions : Inthe followmg questlons aset_
of numbers is given. From the alternatives,.
- choose the set which is similar to the
givenset. -

k 75. 81, 144, 225

" ) 169, 484, 529
| 2) 625, 676, 841
i 3) 729, 784, 961
1 4) 441, 784, 84

g (Question : 77)

{ | 77.ln a leap year the new year day
- celebration is on a wednesday. What
P day will be the teachers’ day in
3 ‘the same year" (as per Engllsh
- calendar) _ | -
1) Sunday _

2) Wednesday

3) Friday

~ 4) Saturday - -

(Question :78)

78. Ina c':ode"language, if HA T can be
codedasJAR and WE as 1S, inthe
- same code, J U G can be written as :

i ™y e mp e e

o (wémﬂa 75 — 76)

L i M IIIIHIII_I_III_\.._

maﬁﬁﬂ% =S I ot ﬁf@&%dﬁﬁ wér‘i%‘f@-- -
203 Boam, ;smaam fdaéé_ito’
adod:_wodori@oa‘ BRITID xma% -
TOELNTI! RO, BROBIZ, SOA. '
76. 315, 210, 35 o

1) 261, 87, 29

o) 288, 192, 32

3) 225, 75, 25

4y 207, 68, 23

(=8, : 77)

77. &,ocb =03 ﬁ Fd@ BRR IRT
amzéd:%odao mdmdmdd STal
SR %56 ama&ds«aodaab o3
o - eszsa SR 2 (faoﬁm o
REORET FFT) |
1) o0
2) wacdmd

3) esoﬁmd
4) BT

(3, : 78)

73 2,0Ch Toodeds mwodaei) HAT@ESO

© JARQOTH 0 WEO&ESJ ISo.:aod '
R0BeSRTIT, @ﬁe No%escﬁ@ J U G
SR &eﬁ zododauaado

1) DON
2) MET
3) LAP
4) PEG

23 .



GMAT(K-10)
(Questien 83) -
83 Dlrectlon Two positions of the dice are
E shown below When face with 3 dots
" is shown at the 1op, which face will be -
at the bottom? ' '

mwmmmmmmmmmw
(%3, : 83)
83 mzszs a.ocfn csae:»cs eadcéa @mﬁm
B3 éeﬁ 300888, 3 zsaﬁmfa@é
B0 daw%riw@ Relats) o:%:aad.
- WVDF BYLRNTY AT ?

(Questions : 84 — 85) | |
Difectiens 'Ahs’Wer'the"following questions
based on the sequence of numbers / Ietters
gwen '

84. 41919?236168224281774

~ If the product of any two consecutive

- . numbers is the very next number, how

~ many times such numbers occur in
the given sequence ?

1) 8
2)9
Co3yi2

4) 13

® @ » O ® o
® .I. .. .'... _ ® | | .
1) 2) 3) “;2 - 4)

(Sﬁﬁ%’o 84 85)
mwéﬁ% B 391 BRI I@ﬁ@ﬁ :

" xiosﬁﬁw @ﬁdrieé Koo e:sqmdcj a?:eei .

emeea,

28181112236199

_’o&a@dc DT BB :ﬁos%ﬂe rbeaow@
LNy ﬁsed e letALY ﬁoaisomdc? 6&
- Deaodn aaig "oesﬁm*a S.ra&.éd:d *drécd:e)
WHT ? _

26

I
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(Question : 81)

81. Direction :
folded as a cube, which one of the
formation of cubes shown below is NOT
POSSIBLE ?

When the given figure is

| ||I||||IIIII\IIBIIIIIII_IIIIIEE||I|||§§_§|]l§|f|fﬂ;l‘_

(gﬁ 81)

81. R : BLIhE 28338, mﬁaomn
SRR FER &aemd)w odoaw
qﬁ&@ da&émr’o@cﬂa Fo;ﬁ&)@ 9

ﬂ

O

% .

(Questnon 82) '
82. Directions : The different faces of a
cube are shown through three folded
cubes. Among the alternatives, identify

which one of the figures represent the .

unfolded cube.

1)  |A]c|B
E[D|F

3) NEAE
Fle|p

25

<>
@3, : az) |
82. BAUSAL @ O PIT QOG-

ORGRD, SE8 D HRWDE -
Bt moa BREORTS. RIS
TOIPEOPRYY) VR PO zsg:'sb -
o3TYTD Nrazs:;::;f) SOTH TODSX.

2) E|C]A
BID|F

4) AlD|F].
E|jB|C




GMAT(K-1 0)

88. Which one of the followmg statements

IS true:?

1) The number 12 is not inside ali the

three shapesl land IV -

. .2) The number 3 is inside afl the three
" shapes [, lland Il ~

3) The number 13 is msude ail the
' ‘three shapes !, Il and IV

4) The number 4 is inside aII the three
shapes i, IVandV

- (ouesuon : 89)

89. How many blocks are unseen in the_\-

given figure ? -

 (Question : 90)

90. To calculate the avefage rainfail in
the second week of August 2018

_in Bangalore, the following data is

- given. Declde whether the data given

is sufficient.

1. The average rainfall of first four :

days of the week i is 147 mm.
. The average rainfall of I_ast three
days of the week is 133 mm.
1) Datain | only is sufficient ~
2) Datain li only is sufﬁcaent
| 3) Datain!and Il together are sufﬁclent
4) Data in t and i are not sufficient

28

IlllII]I|||I|IIIIIIIHIIlﬂlllllmﬂlhllﬂlllllHiIII |

88. é-'z ée:nas %c%m‘fe oisa?éscda
' ,aaodaand 7

: 1) ST Eﬁﬁéﬁ% Iii m:es: |Vd

.90 NOS!S '12 [L

2) I, IIESDEb III TR t:?iéﬁ%ﬂ &a%'fﬁl

foO&S 3"&5
- 3) 1, IIESD"@'.') Ivmratm ﬁﬁﬁéﬁ%ﬂ &;ﬁ:"ﬁ
~033 13"&5
4) \Y ESO@'D V aoete 8:5‘5 3Ny i
' NOQj 4‘3.53 '
(BB, : 89)

89. 8RYTHT UBAQ Torotse VTR WFNY

- ﬁ'oﬁﬁoﬁaﬁé BothiRonl.
1) 9
28
37
4) 10
@

90 zsorw.raaaa esz'{mf 2018 3 ad@sﬁe |
oRRy,

SRUEY 200 sd:e;"»oi: p or) ¢

Gom&a@osa@a FYNS a‘:'aaoéod:afa
- dcdenicd. & a’saaoéodw *aaarb@de
C N0 APEDR.

. 08 SRT s:w:& o8 _~m~® |

2 ZEwee 147 Qo.8ve. A/E.

Il. TRC Srsod Sheth DRRY Xoexd
e PR 133 Q.owe. BB,

1) Ici@c'o‘ WP BT, XTI

2) 11005 [RLE RHE = RRLE

- 3) Im&“ oI &.:@3)0 5503503
‘?ﬁﬁaé

4) 13203 i d@ﬁ au&eo mao@
T'asaﬁ,sé'gfjgg
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GMAT(K-10) _
85 zebcyeanercbeucgemcaneyxcdebvcep

~ Inthe gwen letter sequence, if all the

“e”s from letter z to g are changed to

- “c” and all the “c”s from letter g to p
- are changed to “e”, how many “c”s
. and “e”s will oceur respectwely inthe

sequence ?

1) 5,8
' 2) 6,6
- 3) 6,7
4 7,7

(Questlons 86 - 88)
Directions : The followmg questions are
based on the given intersecting figures.

|\IIH!IIIII\IIIII||I||I|||II||I||I||lIIIIIHIHI\HIII

BALIHE 3 xoedch O 2300 g ssﬁ a&d
R “e” m%a: “’ R EOumR D% g

_aed p =38R %‘@ﬁ QY e’ NvEy “e” &

wEOLmn Zerdad®) jaﬂ:aah %y “c” %
o T Wb T

(WBih : 86~ as) o -
mwﬁﬁ% s FYNI wé h’%’a &rawcfoa
gPemHT &7 INIT, esqﬂafoaﬁ |

86 How many numbers are enclosed in

only two flgures ?

) ..Joa%mﬂo ada-b esa.ane.;@ g
-‘ad:)‘e'w ? S .

15

'2) 4

O
4y 2

27

87. Whlch of all the three shapes have
“14” inside ?

ol Sede e:ssaﬁvém “14” wmd
QLI ? '

NIy

2) I, IV, V.
3LV

4 11,1V, V
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91. MASTER

GMAT(K-10) |
(Questions : 91 — 93)

Directions ¢ The words are given under
Column — |.  Their codes are given under

Column — Il without following the same order
as in Column — I. Find the codes - for the
. letters of words. in Column — | and find the -

codes for the given words in the questions.

_Column ~1
goaj -1
. SUN
. CAP
NAME
GOLD
STAR
ROAD

1) aklbxd 2) kmsixn

3} bxldct 4) 'c'lk__li_xi']__‘
92, SOLUTE

1) mcxban . 2) Icfb|x o

3)snblma 4 icfbax

.(Questions 94 95)
- Directions. ;

In the foitowmg questlons a
set of two figures is given as problem figure.
Find which one of the following alternative

figures would be formed, if the first figure'is .

superimposed on the second figure. ~

lIIIIIII|l|I|I|I|Iﬂ|!l|||l||||l|ﬂ§|||||||II||I|||IE
(ZBnsh ¢ 91 - 93) : -
YR ) 1 xoy-1o ¥R "“cmeﬁaﬂa'
36T, B TTNYG ROBeINT, za’oz; - H
3 é@ﬁ BRUS. & w%eéﬁ% n:oz; -
» mmf@s eﬁsdﬁ@?ﬁ @R’Mﬁomh@
Noaj-ld@cba zjrieé Sy ~oﬁeéd?®

%Otﬁo&o&cﬁa w:? nsd @Jaé.%doﬁ wd?‘i@ﬁ

Noﬁt’édﬁa 71350@».1
Cmumn—li
- Bog—H.
. ybt
~ kdm
axyk |
fpsc'
kini
e Sknc' .
93IDOCLHWENT
1)scmbaxy|2)scmbanye
~ _8) kambxyef 4) fcnbaxyi

- (gﬁﬁ% 94-95)
| addne ;8 F9R oUB BIRY

z@@éodaaa wmzs:a‘mﬁ &aéscﬁ =t

Y SPCUScD g, H0RseD
2333 B LI B8IHT Boiprotneg
TBROWR WIIR- IOBBROND.

&0 &2
..1)'.-_-




- 95,

| GMATK10).

~ (Questlons : 96 ~ 98)

Directions : The following. questions are
based on the numbers and letters arranged
in the pyramid pattern. Study the pattern and

‘complete the given analogy.

97.

98.

T

(B : 96-98) '
RoudRe : S FUNT BFNUR, AONE
DA BweRNhdS HosReR, B
©ITRER, U0, B HReBRODT,
ATRA FRYUIT TTII NI,
RLOFOD AL ' ' -

wle v
o
o

—_
)
Y
-
-

<N(DU1~_.
-

W
—
P
.
9

20| 21122123 | 24| 25| 2627128

cPB:

Ra 3 r

[Fleln[ i [u]x[LIm[N]O]

ER17.:° 2

S NHiky2r 2
3 KX27 4

: ES11:

LT

ol et e e S i SO

IR R

e e —
[



o

A e . A T T T T e Tt LT e T T T

et ST e T T T e
P

PR e i o e e RGER LS e S,

Coematky 'IIII'IIIII'EII'IIIII||I_||lI'IIII‘ItI_llliIIQIIII_HI'lIIIII'I-_I'ill
-' (Questlon 99) - o (gﬁ |

99 inordertoformthegiven elllpsa, whlch ‘99, 6& %@ﬁ a)c@d:aa‘ A, B C D, E 3333: F
four appropriate parts out of A, B, C, D E m-;@ ng-g &BO% mﬁﬁ@m Brel2 dmﬁi o
ant! F are to be combinéd? o ' m%&ﬁ acan g@ Wommgd 2

._ (Question:100) . . . . (g@ 100) - |
- 100. In order to form the gi\}'en hexagon 100. & LA :aea:s:as A,B,C, Da’a& Envg |
which three appropriate parts out of i_' oﬁmd Rt mﬂm*ab &’i@c&.qm ﬁ:_ :

A B,C, Dand Eareto beoombmed‘f - | %%&ﬁ ammomm&s 9




[owarecto S |

ejarnion Rautre

. 28 L.omre. (OMR) wwss @88 s 100 IFRows 8, Masebs, dmd dmoond. - |
. ooy ZHA% sERon. B gs,em rom> wotad,

. WOeTY VTHODY,

.38 ﬁoﬁaz\b #orBR83000T £.00. -

¢ L.oxnr.sot. (OMR) wuﬁ@ J% @3, % o;déﬁ X0 BRo emrs‘daﬁ: mché,-ma Elecwaﬁdoa Doy
.'-553?1%* “d% roﬁoda‘at‘.i Emédd msnab &e@ﬁ% fapleviloh) ?.3?3@.7‘ momoasf B BN, mwoﬂmﬁ.-u

._rbcbsz RRA. zoaia em@Sdasm 3o IRBT fme} aode:acmn:w @aifam':zo ma‘) odmocde em‘ﬁ:a‘ _

mmmwm AN Sl (OMH) Eﬂ)sd "‘éﬂo'b eSS DRBIRBD.

¢ qumm : 20 e :'w_‘,édﬁ %0 2wady ok Kok, 3 UNGY b.omeor. (OMR) HRTQ 33 33y
OB, 1RO TOONOE® B WTIRENS HIFH, B FRBHD. S Ut BRCONTO3
Rompeareon oL, ]

20. () [oX "@ (AT HTRECH [03)

. 20T . JJ1 e.ruédm‘oﬁ 203808 T, wsm&m 3:023%@ esors’a NITAYR, SBowd Honeda

WOBNTRY, Qeren WDRO.

. boureo. (OMR) BUBQ M08 A9GY SHEF e 4eUa MmOt st A
. SRBR. |

. oem e mna 8038 v3oAE bR S0, (OMH) @&35553 3088 aﬂae@mcssaﬁ e |,

LLRYTY,
. Woemy dndackewn aeéogéeaad‘_, ﬁmﬁéef &dmféoiaﬁa famaqade &JQ?EDE)E‘ wuﬁdsarwab

BOOTBI, maie@hd

. OP03 T, aén@@ od:‘a@ﬁe xm:aémsc G INTO u;z,‘ a_ﬁééod: ﬁa:’_ d.ramoada"e

woéﬁodocﬂa sayomﬂeﬁa

Note : English version of the instructions is printed on thefront cover of this booklet. |
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- 3. Dursng the examinanon

. ) g o
"NTSE: 8
SAT-2018 o @
o . : _ % §
3'1? - II/PAPEH - || _ - 3on3 - 10/CLASS =10, Mo E
mzs,aoné ""53 ﬁﬁt@ / SCHOLASTIC APTfTUDE TEST | 3
~ REGISTERNO:|[.2 | 4 |1 ]| 1]8 [ T]3 |3 _I Y3
| mevow : 120 pavxined  conw /s © o ot 100
TIME: 120 MINUTES - - ENGLISH/KANNADA  ~ ~  MAX.MARKS:100
!nstructlons to Candidates - i ' ]

1. The Questlon Bookle: contalnmg 100 questlons and the OMR.answer sheet is gwen to you

2. Al quest;ons are compu!sory, each questlon carry.one-mark.

v,.

. Read the questions carefully.

» Completely darken/shade the relevant oval ‘against Question No. in the OMR answer sheet using |
blue/black ball point pen. Do not try to alter the entry and not do any stray. marks on OMR Sheet. '

- ¢ Ex:In a.question paper-if No: 3 is corréct answer for Ouestlon No. 20, then darken in OMR answer_ A -

sheet shade circle 3 using- bfuefbtack bail pomt pen as follows
2. O @ @ ® (Thisisan example only)

4. li more than one oval is darkaned for a g:ven questlon such answer s treated as wrong and no marks
'_wnli be given. '

5. The candldate and Room Supemsor should 5|gn in the OMR sheet

6. Cand!date should return the OMR answer shest only to the room supervisor betore leavmg the examinatlon
halt. : '

7. The calculator mobiles and any other electromc equ:pments are not aIIowed msxde the exammatlon '
hall, o o

8 English version of the question paper wili be cons:dered as final, in case of any dispute. ansmg out of
'var:atton in translation version.

?_fabm : ARESHY BRE sFdody 8 PAFoDd LOFRNGY SDOIOUT.

b e it TR e

o
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CsAT0) RN
wRIeNT 5;33 mae% | |

scnomsnc APTITUDE TEST g
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|sLNo. . susgger | ._ou'_Es_mN'_No. | pace
|gme. - oFed o FROM  TO :
B R
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01.._PHYSICS -
| | 2533%:3

14
3

02 CHEMISTRY - ... | 14 2% | &8
CmohRTE | e

.

| 04 '”'.STORY&BUSWESSSTUDIES‘" SRR Bt I 55 | 1847
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AND ECONOMICS T 7 80 | 2426 |
oonymy e ewre | | S | e
1070 MATHEMATICS = - o8 100 | 2730
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SAT( K-10) .

PHYSICS

1. The current in the circult shown below is

. iﬁl,gﬁ 4 ,
SR %’*% R N <
R Y/ - ."Uwﬁﬁ
3 \_. | 96“2
IR 4 e | . . . @
GRS R _.p?‘,,,:z;_*}* .
ey 1) 15A AT 2) 05A
S 3y 25A B 0.66 A

2. A Heating unit -of an electric stove is rated

PeaVy

0 ¥

1) 2A
@) 4A
3. A wire of resistance 12 ohm is bent in
the form of a circular ring. The effective
»res_istance.between the two points on any

._at 880 W. It Is connected to a power supply

of 220 V the current it will consume
2)6A
4 8A°

diameter of the circle Is _
1) 240 7 2120
3 60 4 30

. A person needs a lens of pow'fer'- 45D for.
" correction of his!her vision then the focal
' Iength of correctlva Ians is

: 1) +45m _ N
3) +22m ' - 4)

\2)/ 0.22m

045m

Shee!a cannot read newspaper when she

holds. it closer than 100 cm. The defect in

her'-eye and the power of lens prescribed to
her [Normal eye near point =25om] -

1) Myopia with + 3D lens

. 2). MyopiaWith - 3D lens

3 Hypermetropia with — SD!ens
4) Hypermetropia with + 3D Iens :
i~ 1

- % . ito

k¥

' 3) +22m

. dtw3 100cmhc3 &
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6. A melaiiic rod falls under gravity wlih its

ends pointing eas_t_and west, then-

1) noe. m-f indUced atall

2 an 8.m. f mduced initasit cutsthe magnetlc

" lines of force

' 3) two e._m.f.s of equal but opposite signs are
induced giving no net e.m.1.

4} its acceleration ié equal to'the productof g

and the 'radius of the ring'

7. A bar magnet is- used to: plck up an iron '

: nail I el

< Bar Magnet ;<0 Iron nail - -

Q R

- the magnet to plck up the i iron nail ?
) AtP ”
) AtQ
' 3) AtH

" 4) Itmakes no d*_fférenc.e at any part

8. An athlete completes one round of a
~ cireular track of radius R In 40 seconds,
* The displacement at the end of 2 minutes -

' 20 seconds wui be -
: 1) Zero o 2)" 2R
: 4 7R

9, The amounl of materlal that reieases 4.5%x10'J

of energy when-it is completely convertéd
into energy during a nuclear reaction [Given.

: speed of hght = 3 x 10® m/s].
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SAT(K-10) . |
10. For a'nuclear reactor 48 KJ of energy is
_ produced pert mlnute If the energyr released
| per fission is 3. 2><10‘11 J then the number of'
flssmns which. would be takmg place ina

- reactor per second is
S 1)-Bxtom

2 2xiov

3) Baxton

4) 2.5x10%

11. Select fhe correci:":srtatelﬁent

1) A lens with + 2D power and O 5m foca'.'

length is convex lens

'2)" A lens with + 2D poweér and +0.5m focall

length is convex Iens

o 3) A lens with — 2D power and + 0 5m focal
- length i is concave lens. -

4) A-lens with + 2D power-and - 0.5m focal

length is concave lens.

12, The mﬁagolflca:tlon of image formed at a
~distance of 4 cm by a needle _when'. it is
* placed at a distance of X cm a’vﬁay froma

convex mirror of focal Iength 12 cm
1) - 066 '
2) +0.66
8 -15
4 415

" 13. Thespeedof sound in air af NTP is 332 Vs, If

eir_f_pressure_becomtes fourtimes the normal
then the speed of sound waves will

1) double
2 quadrugle :
-3) rernain the same

- 4) become 2 of the original value

3R @5"‘*\
_329°°° 4%
R1 6o

||IIIIII1I|I|| AR

10, tomh Raehor JeRROGHY o AEY 48K |
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IBRROCHY BDLOIBT ATYRRY Hogd,
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- 2) +0.66
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CHEM!STRY
14, An isoelectronic species are .
. aNat= 0 b AR =2
c. Mg* <o - - d, Ca*
) a, band c 2) _a_,c__aridd
3) a,handd 4) a,b,candd

15. identify the correct order of elements
accordmg to then; metaiiic character,

2 1) B>A|>Mg>K
) Al>Mg>B>K
3) Mg>Al>K>B
4) K> Mg>Al>B

M;-J mzk
ﬁqB

' 1 6. Identify the correct representatr\llﬁ of reaction

occurrmg durlng chioralkall process.

) 2NaCly, + 2H,0,, > 2NaOH,, +
Clztg) + HE[g) L _ )
2) 2NaCl,, + 2H o(aq, 2 NaOH + Cly, +
. HQIH:‘ :
3) 2NaCE{aq) + 2H Om - 2NaOHw + Ci —
I:iz(_g} _ , ,
4) 2NaCl,, + 2H,0,, > 2N&OH, + Ol +
Hzm) '

~ 17. identify the sets of quantum numhers which

are not possible ?
a n=0, |=o, m, =0, m, =+

b= 1|..0m 0m__..l

2

'cn_1l-1m Om...|..l

M

d n= 2l_1m Om.._%

1) aandb. .-
. 3) aandd

2y aandc
4) bandd

| | lIIHIIHl[Ill|ll|llllll|11I|l||I|II|_IIIIII_|II|iIl||HI
CESREE T o

14, _m’imaé@l&a“ (|soelectron|c) grorish

a. Na e b, AR

c. Mg** I -.-Caz*

1) abRe . 2) acdRd
3) a, bR d \)abcm&d

15. drckod rim% ammwmn qumw ﬁaoﬂmw

IR, Rocbas,

 1) B> Al > Mg > K-
2) Al>Mg>B>K
3) Mg>A1>IK_> B
4) K>Mg>AlsB

16, pe07-00- Fiohelh XooRE WING,

SehohRy hbsn, |
- 1) 2NaCl, + 2H,0, - 2NaOH,, +
o _ :

m.
+ H

2(g) 2l

Hyg

3) 2NaCl,, + 2H om - 2NaOH{aq, # Clyyg +

| Hz(g)'_

4) 2NaCIm +2H0, - 2NaOH(aq} Clag; +
HZ(U}

17. mqﬂ:'wd ROUTT (quanium) ﬁoaﬁﬁﬂﬁm

ﬁ)d:&’
a. n=0,1=0,m=0,m = +%'

b. n=1,1=0m= b, m, = _%

¢ -n=1,|m1,nil=:.ll},ms=-.j...1'
ST 2

d n=21=1,m=0m= _%
2y amByc
4) b d

1) ama®b .
3) ashe d

' 2} QNaC'( +.2H O(a > 2 NaOH . C'ia;il"“'

e p—
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- 18,

|

Is (are) .
| a. Dilution of sulphuric acid

L b. Sublimation of dry ice

19. .

c Condensatlon of water vapo.urs'
" d. Evaporation of water '

) "aa_ndc_ _'-",2)_-_b_0nly=. -_
3) conly . .- 4). bandd
X ' .;\Ikal'lnaKMnogq-H_gaqt > Y o :
Y +X Esterification
oo (acld)

Identify X, Y.and Z. -

_ _1) _Ethénoic acid, Elhar}oi'énd Ethylethanoate

| 2) Ethanol, Ethyiéthanoate and.Ethanoic acid

' 3) -E_thandl, Ethanoic ac%d and E_thylethanoate |

20

o2

4) E_thanoic acid, Ethyf'emanoéte and Ethanol

1 EQ_OH_ o mone CooH
.COOH -

3) H,CO,. 4) HCOOH -

Assertion {A) :
methane gas liberatés 18 g of water.

Reason (R) : in the combustion of methane,

‘water :s one of the product.

Select the correct opllon from the given
alternatives.

- correct explanation of A -
2) Ais true but R is faise
3). Alis false but R is true -

~ 4) Both Aand R are faise

An example (s} for endothermlc process (es) |

: Ide_niify the solid acid at room tem p‘erature." "

Combustion of 16'g of |

1) Both'A. and R are true but R is not the .

18.

O

YoTTIF T (endothermic) w’ﬁofa(n‘@rf)
LOTRESE(1ieh) ' :

- .a ﬂm&a‘ Wsh d:zordﬂ.raﬁ?zbas (dliution)

19,

b P8 LT (dry lce) eITS
¢ decedch mogesdta B
- d. feg es.;ao_s;ma;s

2 bomwy

™

1) amae
C3) cBmwy 4 bR d
. Y-}X ..a:x:‘_pcs:sra .Z. :
{2y ) S

X, Yhah Z ey rbd:a,q

1 a@ﬂmec&:a‘ &sm aqﬂa‘aef ai)ab

mqﬁ;jjencs?&moﬁaew

2) oBme, éaqﬂétfazﬁﬁmoiaewf a:i):a’a

DBIRCWT 33 -

< 3) BT, aBsee T VWY

- 20.
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" COOH L
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22

1) ‘A ‘and R are correct and R is the correct

23.

G

Assertion (A) : Sodlum Chlorlde formed by .

the action of Chiorlne gas on sodlum metal
is a stable compound

-Reason’ {R) :
acquire octet. ‘configuration in sodlum
Chioride formation.

Select the correct optlon from the given
aiiernatives

. - explanation of A

2) Aand R are correct, but Ris notthe correct
explanatlon of A:

3} Alistrue but Ris false -
4) Both Aand R are false -

Choose the correct statements about the -

given chemical reaction.
3Fe )+ 4H ,0 Fe,0 +11!-'i2’3’1

3 40)
_;-a.- Iron is getting oxidised.

b.  Water is getting reduced.
6. Water is acting as reducing agent.

d. Water is aéting_ as oxidising agent.
1) a.bandc | 2) cand d
q3)abandd 4) bandc

The _h_alf'_life'df-_a-_ra;!ioiéotope is 4 hours. If
the initlal mass of the isotope was 200 g, the

' mass remaining after 24 hours undecayed

%25

1

3) CovalentXY, . -

.26,

1) 1.042 g
'3) 2.oa4gﬁQ ;

2) 81259
4) 4.167g

Theelement‘)(’ hag anelectronic configuration -

‘2, 8, 3. Element ‘Y has an electronic
configuration 2, 8, 7. The chemical formula
of the compound formed when they react s

1) lonic XY, ~ 2) Covalent XY
4) lonic XY °
Identify the clfactory indicators.

1) Vanilla and turmeric

2) Vanilla and petunia-

 3) Vanilla and clove

4) Vanilla and hydrangia

Sod:um and Chlorlde ions.

22, Beod (A):

23.

24,

. 25.

© 1) BeIRRF XY,
3) ABIeSYXY,
- 26.

) a,bEﬁO_@:}Jc_ _

3 20849
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27

BIOLOGY

_Read the foiiowmg staiements and seiect
the correct option.

A : When the body si_zé of animals is large,

- thediffusion pressure alone cannot take care

of oxygen delivery to all parts of the body.
B : In human belngs haemog!obm plgments

. take up oxygen from the air in the lungs

to carry it to tissues which are deficient in

oxygen.

28.

1) Als true and B is fa?se

2) Ais false and B is true.
3) Both Aand B are tfrue-

A -Bo_th A and B are false

Assertion {A) : Plants can survive without
separate resplratory organs

| Reason (R) Each plant part takes care of

its own gas exchange needs.

Select the correct optlon from the given

o ahernatwes

1) Alistrue and Ris fal_se ,
2} Alisfalse and R is true

' 3) BothAandRaretrueand R~

29.

A. Oxytocln\

_explains A .
4) Both A and Rare true but R doesnot
explain A C

Match Column - | with Column - 1l and
identify the correct answer.

Column -1 Column -1}

B. Luteinizing | .li. Regulation of diurnal

hormone. \ /" rhythm of our body -

c. Vasopressl > Fiil. Uterus contraction

_ during child birth
D. ‘Melatonin-” iv. Body growth
. \y induces ovulation
1) A~ii, B-v, C~i, D-ii
2y A-ii, B~il, C-iv, D~i
3) A-v, B-i, C—ii, D-iv

4 A-v, B~iv, C-i, . D-ii

2

i. Reabsorption of water

27.
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.The recessive character |n pea plant in the

following
' 1) Violet flower

2) Axﬂla_[y.{gwer_

~ 3) Round seed”

31

o Reason (R} : The ventricles have to pump-

a2

%) 'Greeh seed

Assertion (A) The walls of lhe venlrlcie are
thlcker than the walls of the aur:cles

blood to long distances and various organs.

Select the correct opllon from the given-

aiternatwes

1) Alistrue and R is faise

2} Ais false and R is true -

: 3)" ‘Both A a'nd R are true and R

exp!alns A

-4) Both A and R are true bui R does not | -

" explain A

The presence of following kind of bacteria

In water indlcates contamination by dasease
causing micro-oganisms

1) Agrobacterium

2) Coliform

" -3) Pseudomonas

"33,

A: Imbibition is a special type of phenomenon

- 4) Lacto‘bacil!us

Read the foilowmg statements and select
the- correct option '

N by whlch plant eells absorb water.

B: The rupturlng of seed coat in germinating

. _seeds Is due to imbibition.
BT Both A and B are true
" 2) Both Aand B are false

3) Ais true and B is false

4) Ais false and B is true

10,

30
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Identify the correct statements about
chlorophyll.

T A, Chlorophyll is highly sensitive to‘lig"ht.

_B. There are varieties in Chlorophyll.

35,

- 36.

C. The formation of Chlorophyli does not
depend on the exposure of the plant to
light. :

~ D. Nutritional deficienclee of minerals

cause loss of chlorophyll. -

- 1) A and C only

2) A, B and D only
3) B,CandDonly -
4) A and D only

Haemophilia is more common in males

because itis a

1) recessive character carried by
Y chromosome :

2) dominant character carrled by
" Ychromosome .

3) dominant trait carried by X chromosome

" 4) recessive trait carried by X chromosome

A person was found to have reduced level
of reabsorption of water and glucose due to
kidney damage. The following labelled part
would be the site of damage for this patient.

2) P
4 R

11
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37 Examme the followmg staternents and select

B Glbberhnsareusedto!ncrease the Tength :

the correct option
A Ethylene promoles fruits rlpenmg

of grape stalks.

1) Alstrue and B is false -

.2) Aisfalseand B ie true
3) Both A and B are true

~ 4) Both Aand B are false.

- 38

Identity the correct statements about

- blood.

A. Platelets are preduced in the bone:
" marrow. '

" B. When haemoglobin combines with

“oxygen it forms carboxyhaemoglobin.

€. Calclum ions play an important role in

- clotting of blood.

D Fibrins are formed by the conversion

of tibnnogen by the enzyme thrombin

1) AandBonIy
'2)'B,CandDonly -

3 B a‘rid D-dniy'

4) A, G and Donly

39.

A farmer wants to save ‘his crops from heavy
rain and |lkes to have early flowering. The

: Iechnlque that coutd be used In this situation

' 40.
- disadvantageous to a popula'tion

1) Phot_opertodlsm _'
- 3) Phototropism

2) Vernatization
4) Polyploidy

Ass_ertion (A} : Genetic variation is

) Reason {R): 1t does not enabie any individual
_to adapt to the environ ment.

. Seiect the correct option from the gtven

aiternatives.
1} Both A and R are true and R explams A

~ 2) Both Aand R are false

- 3) Aistiue and R is false

~ 4) Ais false and R is true

12
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HISTORY & BUS!NESS STUDIES

41 The |ocation shown on the map of Indla was
a French COIony : :

i R
.

2} Goa .

1')_ Chandranagore - _
S 4) -Pohdicherry

3) Mahe
- 42. Agsertion (A): The Mughal Emperor Jahangir

‘issued a royal permission to English East .
india Company to establish their warehouse _

© factory: -

Reason (H) English Company estabi:shed :

thelr fi rst warehouse factory at Surat

Select the correct optlon from the gwen

a alternatwes
-1 A is true Ft is false
2) Ftls trueAls false

)} Both Aand R are correct. R | is the correct_

explanation of A

4) Both A and R true, but R is not correct -

_explanation of A N

43, The correct chronologlcal order of the treaties
_ slgned bétween British and Native States.
" A, Thé treaty of Salbai, the treaty of

Srirangapatna, the treaty of Amrltsar and

the treaty of Mangaiore,
‘B. The treaty of Salbai, the treaty of

. *Mangalore, the treaty of S'nrangapatna_

and the treaty of Amritsar. -

o - €. The treaty of Amritsar, the treaty of " -_
" Mangalore, the treaty of Salbai and the _'

.~ treaty of Srirangapatna.
-D. The treaty ot Amritsar, the treaty of
. Salbai, the treaty -of Srtrangapatna and
_the treaty of Mangalore. :
YA : - 2y B - _
3 C _ R 3 B * B
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44. TheList ‘A’ contains the great personalities
and the List ‘B’ with their works. The correct
~ option that matches exactly.

A | B
A. Montesque - I Uncle Tom's Cabin
B. Hpusseau il. Common Sense
~ €. Mazinj ~ lli. The Spirit of Laws

D. Harriet Stowg iv. Soclal Contract
' ‘v, ltaly Austria Papacy

A B C D
Ay i v v
- VA i
v v i i
VR R

45. The correct prowsmn passed by the British -
‘Government in India in their chrono!ogical
order s
A. Supreme Court of Jud:cature was

established at Calcutta. _ '
B. A new institution named ‘Board of

Controllers’ conmshng of s&x’ '

Commigsioners was started.

C. The post of Governor General was
changed in to Viceroy.

D. Representation of the Reglonal Councll
was allowed Indians through election
based on rellgion.

1) C'-:--A 8
- 2)A° B . C D
3) B D ¢
4 C D B A

46 Choose the correct statements with reference
to the Indian- Judiclary system before the

- British rute In northern part of indla.
. A, All indlans were treated with only the
_ Sharlyat laws of Mughals

'B. CHiminal courts were under the control
- of Qajis. '

€. Civllcourts wete called ‘Diwanl Adalat’

D. Hindus were d;spensed ]usttce as per
the Hindu scnptures

1) AandBonly - -
2) A,BandConly . ' ]
3) Cand D only '
4) B,CandDonly -
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47. The correct statement related to Sathya

48.

‘Shodak Samaj is

A. The samaj started the Cow Pr_oteétion
Association

~ B. The samaj opened the schools for

~ shudras and girls
C. The samaj advocated poiytheism

" D. The samaj encouraged vedic education

1) A
3 C

2B
4) D

Select the correct order of evenis related
to freedom struggle starting from Norlh to

- _South as shown in the map.

' A. Dandi Sathyagraha took place
.~ B. The Moplah uprising against British

C. The Declaration of Poorna Swaraj
D. The Quit india Movement was launched’

i W v
nNe A D B
2) B D A cC
33D C B8 A
HA B C D

49, The chronological order of the Incidents of

the first war of Indian Independence.

" A. The Queen of Britain passed a Declaration

assuring a Stable Government for Indians.

B. A group of soldiers declared Bahadurshah

Zafar as the emperor of India.
C. The Sepoys of Meerut revoited against their
British Officers.

~ D. Tantla Tope was executed by Bntlsh at

Shivapuri. ,
D C B A
2) B A C D
33 A D B C
4 C B A D
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50 The correct group of statements related to

51

52.

U'p _}"H-

_ the functions and character:sllcs of banks.
A Acceptance of deposits and deals with

.money. -

Issuing national savmgs certiiicates
Issuing letters of credit gurantee.

. Discounting of bills.

1) Aand B only

2) AC and_D only
3) AABandC only

-+4) Cand Donly

Assertlon (A) : The R B.l Iends money to
commercial banks in the evenis of any
shortfall of funds.

Reason (FI{1 The R.B.l. controls the supply
of money through reverse repo rate.

Select the correct option from the gwen
alternatives.

A. A is correct and R is the correct |

explanation of A
B. Ris correct and A is wrong
C. Both A and R are wrong

D. A is correct and R is not the correct
explanationof A .

3 C 4D
Observe the following pictures of

“Entrepreneurs and identify them in correct
: order of Iheir achlevements

1 et | S 11 iv
\. Successful in getting listed the company
. first on NASDAQ. :
. Established a small scale Anand Milk
Dairy (Amul) in Kaira District.

year 2001 by the Ernest Young.

A
B

e Awarded the best entrepreneur of the
D

. Took the advantage of open sky policy
of the government and started JET.

N iii v
1) B C D A
2) A C B D
3y B D c A
4 C B A )

16 .
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53. Selectthe correct statements regarding the

advantage of reglstration of partnership

" firms.

A. A registered firm can file a suit in court
of law against third party. .
B. Aregistered firm can file a case against

. the other partners agalnsl the Ioans they
owe to the firm. S

S 2 -Parlnership firm bai’tnerS'can not file

case against thelr own firm.

D.-A reglstered parlnership flrm can not be
dlssolved !

), _A and C only

2) Cand D only

~ 3} DandAonly

4) Aand B only

54. Assertion (A): Service charges are collected

from current account holder by the banks.
Reason (R) This account is opened by
business men only for the: development of

- thelr busmess

Select the correct option from the glven
alternatives.

1) Riscorrect, Alis wrong o
" 2) Both R and A are wrong’ . )
. 8) R is correct and As exactly related

toR

“4) Ris correct and A is not exactly related 10 R

55. The correct'optlon o'rganlse'd 'o'n-the"basis

of evolution and growth _of commerce
A. international trade stage

B. Money.economy stage

C. Agricultural stage

D. Pastoral stage

A B D C.
2B A C D
D G B. A
z;ic"s' A D
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GEOGRAPHY AND SOCIOLOGY

'.--56 ‘Choose the group of correct siaiements

' related to Mlca _
" a_. 1t is an lmportant non-metalllc mineral

: b. {tcan be ea_srly split into very thin.

It is transparent and heat reslsiant."

a o

. Itis used In electrical industry, telephone,
aeropianes ’

“1) a,bandc
- 3) a bandd

2) aandd
4) a,b, candd

. 57. Choose the correct group of statements with
respect to “The Siwalik Hills”.

a. They arethe cuter most ranges or foot hills -

~ -ofthe Himalayas _
_ b. They are the Iowest range of the |. - '
" Himatayas, ‘
... ¢, Their height Is 600 to 1500 mts. and wndth
 ls15t0150km. S
¢ d. They extend from Rajasthan to Aséam;
: 1i'a band c ' 2} b,cand d
3) a,b cand d 4) a, ¢-and d

58 Match COIumn ‘A’ with Column ‘B’ and
-.choose the correct: rnatching

Column ~ A " Column~B
w8 Karnataka . 1. Kala balsakhls . .
i v b. Uttar Pradesh ii. Mango showers
{ o WestBengal iii; Coffee blossom
. i('d._Keraia iv. Andhls '
- . e v. Tea blossom
a b ¢ d : :
Hodit 0 i v
2 1 il di v
3 i w0
4 v W v

- mmwmx a's:;ab *aSsazsa'e,.; e

56. e-szaﬁ%e ﬁouo@»doi ﬁao&md %c:?%ﬂré rboﬁab '

18

|III!IIIIILHIID]IIIﬂIIHIIﬂIIIIH Illllﬂllllﬁllll

uoS: TRR..
A 'ad: gﬁ»a‘) a@.mea aJEbz:

b, *aa’a’:; wEY a’@e’ama‘ Im@rfwn
- a?::zﬂﬁzaazbm R

T G QT mdcssrmfa = aaaD adaczﬁ's

rbm@%’lm has.,

dow dagla?mn ad;j:ba‘ﬁdtaw%a as@e:;aw,
| OEns oin0icb teReRbEs.

'1)aba:babc_ L 2) aE.SoEo’Jd _
'_3).ab55363d 4)abca:‘b§3d

57 H m@a‘ aSagm*o” S:&SOQ ﬁboﬁ‘ad &eﬂ?%mﬁ
' ﬂ:oaiﬁ: wo&: :S:ata -

a. B aamwoi::s msnas e}zﬁm md ?par{d
~ Xotdneenas. '

b, 'aa;rif:b R aad@'é acsssaooi:ﬁ z,:aﬂmb

o c._aséﬂa#msooaoznsooaoe abs: wmw
. oot 150 &.meA%h o

d. -ta@ﬂ%b mmms&aod wmoﬁ&ﬁ awa
7'1) abwdyc 2) bc'= d
BHapcHdRd @ a é.sm-d

58, *A' Rigoist, ‘B agos:aoaﬁ Reon8, 2ocier
ﬁmomtéﬁc&ﬁ: aogma IR

Wg-A L my-B
‘a, ﬁmaﬁﬁ LT me zidm&
b. evas.zded - . 1. SROS deeky
. @D 1ome -l Mpch WA
d. e v :EO@CZ?

_ F v..esawmme
a b ¢ d o
DI I R

2) i i i v

3 i v e i

4w i v
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SAT(K-1 0) | S o L
59. Read the. follomng statements and select . 59. @ ggq;sqs;m ﬁsgg,a 533; nocind 3535;55334 '
the correctoption. . . o - - o, . ' :
~ A. Itis a method of farming in which a large A 'ai:b 238 RekmHTCHY VLE WorRY e
' a.'moun't of capital and !_gbour_ a.lfe_j_appﬁed ' o ﬁ&rﬁdq Anmnas Bemod ﬁ%@:- o
per unltofland o '

B 6-! &@ﬁd@ e mmmh m&c&i&

B. Under this type of farming, Iand Is - .ugg mam%@ngab

" cultivated throughout theyear.

A A T T

- C. Farmers try to raise two or more crops to c Sﬁ?dg aTdh egm mhadh déﬁ#m

"+ get maximum productlon from small Iand o --"":uarba.’%?- w3 uy m&ma@mod@e )
holdings ' ' N . .'WEdﬁmh boi:.a,qe:arb@d:

. It is commion in the fert:le and u'ngated _' D.& %@a a@m deait:’; wdaad ) e’bcca:!@_
areas of the country ' | . | Pogacs %ﬁﬂﬁ%*@ ﬁmm:-%

- 1)’ Shifting farming | L _ 1) ﬁmeﬁ 23eTR0R,

2) Humidfarming -~~~ " | 2) ogF e
3 Plantationfarming . . 9 5@@3@@@ aﬁmo:o
e Intensive farming . © o 4 wog demwed

} . 60 Match Coiumn ‘A’ w!th Column ‘B’ and 60 ‘A’ z!bgoﬁab' ‘B *%o&raoﬁﬁ é.raoﬁ». aboim'd
" thaose the correct answer e O evgseER, e:io?c ma

COi_u_r_nn—-A o Columri-—B- .. o me _A 3 555—3

i a Yamunowi . L valiey |+ Caobdaty L %S

“’ b. Armakonda. i Hillstaﬂéri::_f B wsbrdnod Il NOgREd |

ek I Glacler S| ewa s
| d Ranikhet Iv Peak . | . dooedler v

V. Groundwater _ o ' ' 'afos_aafu-n

Bwow v SRR N I N RV

EE R R - A

B WG G . R VERN I T

6 wooow G w0
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61. Match Column 'A' with Column ‘B and- 1

S 'choose the correct answer

- Cc!umn_—A- _ Column~B.
s A,.:.Blac.k:.buck._':-::_ o .o 1 Extinet
| -.'.,'.-,--'j.g.__Aslét_lc-'_cleﬁhant_,__- o ii_-._'Rare

. Andaman wiid pig -
D, Himalayan brown bear iv. Vulnerable
e i .o v Endemic
1) A~ii- B-v C—i D-ii
2 Al B~iv C-v D-ii.
3) A~V B-ii C- |v D—-l}/&
4 A—m 8- IV C. v D—l

62. The H:rnalayan yew specles is in danger
- hecause o :

1} A chemlcal compound called ‘Taxol’ is

extracted from the bark to cu re cancer.tf

| 2) The hlde of the animal is extracted for _;'

producmg percusswe mstruments

3) The birds feathers are coiourful and they '

: are collected by kmlng

4) The msectlcrdes have broughl adverse. |

eﬂects on them.

63. Read the following statements and ' select
the correct optlon ) -
A During the time of Chandragupta Maurya,

- dams, Iakes and irrigation systems were -

extenslvely

B. In the 14® century, the tank in Hauz Khas

in Delhi was constructed by Itutmish for
o su'pplying water to Siri Fort area.
: 1) A |s false and B s truai’ -
T 2) Als true and Bi is false
"3) BothAandBare true
' 4 _Both A and B are false

i, -Ehd_angered -

20.
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61, A" adg D3 B wbéo&:?&: mom mm_; __'_ 3

mociwes wogeay, woR. . - b
Ay _Saﬁ_ 0 Lesksgecsd
_' B DRI B i eomm |

C. wocs;ﬂna*‘ aacs: Soa . e@&)ﬁoz&ﬁ@ﬁ

_ D aome.aoivd SOwa #da iv. cbaowmd@

V. Z@ec&a um,mb

1) A B-ov C—: _D—m _
2) A-iii B=iv C—v D~ii
.-_"3) A-v B—m C—- _
" 4) A—iii B- v C v D—| S

|v D-*II

| e BRROhE o wS0h B ge;ersm*._'-

e.-amcﬁ:ts woz&ﬁ@d biocﬁd

1) dneer’ How aa'aojaaﬁ oodmma, S
é.rariﬁmocs &radéﬁodboamétﬁ faCSFb _'

ﬁ}ﬁdﬂ" NoTER uemeaarbaéﬁ

2) Zo¢ e m#;ja
asmﬁsa’o au%ezarbSci

3) -w&rw 31’)3’3‘1'%‘33 ﬁmrmodomnﬁo,_.'_ __
' 93-5)?19533 ’&.raen@dd opvs” egﬁmﬁa’n

' Nogawoamétﬁ

4) eHny  Hoed aewa'aa'ﬁn'%fo aﬁa@a’

w&—amaﬁﬁb enead

| 63. & sens Seednor ﬁ&wﬁ =hay ;ﬁacdaacs L

wobobl, 0. -

A z&ogjb"’ SPodrs - wvdé w§#ﬁz‘ﬁ¢b |

mmﬂmmmma%m;mwn[ o

RERCIRROES. -

. B. 20 Sneel Tdesd Sedh Rcesme: :oacse:a'
o rav;aaseab 14s3c BIINEBO VO we
*ad:.«d a‘:’an‘ a:a'*’aﬂe aw:aﬂo:bﬁ: amrea

SRBTD.
1) A 3%33& B
'2) A 30 BDBBIF),
3) AR BITES HO
4) A3 BoORR 3@ .

SOGJaEmoo "-aréo:b- .

i ,-_-\_

BT

e At el
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SAT( K-10)

64. Read the fol-l'owmg statements and write the

.- correct option with which all those links. -

* . A. Thissollis suitable for cultivation of coffee

with adequate doses of manures and

 fertilizers.

'B. This soll is mainly found in Karnataka,

Kerala, Tamil Nadu, Madhye Pradesh and
. the hilly areas of Odlsha and Assam

C. Humus content.in this soII is low. -

D. Itis found in areas with hagh temperature '

and heavy ralnfall :
_ 1)_\‘A_I!uvial Soil P '2) _Blaqk Soll _
3) RedSoil . 4) Laterite Soil

" 65.

'_Cheose the correct type of soil with reference

: to-—the shaded areas in the given map.

" 1) Mountain Soils

2) Black Soils
3) Laterite Soils -

4) Red and Yellow Soils -

21
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64. s ##haﬂ ﬂwsﬁm MRo2d w2y ea:j;ﬁ@ﬁ :db
momw ao&:od;m zat%oaaa

A. 3 abr% '"'as&% gaﬂsaraeﬂ Rezon 3y
dﬁrbaudmﬁ.:aoaﬁ B m‘iﬁ msmms
B 8 ey BN gmerus, 309,
#Hi B0ELTOm, T gﬁad DD wR? =N
WXROR 138 gdcsrivé@ BombeaTHITd,
. C. % SriQ oz gmsa R,
D @ shen By TeRaRS B 0 ¢
Deghss gcsezsm:@ Borbrath 3z,
1) dgen ey 2) 3 sHorey
- 3) 3oy msaga_ 4) cRpBEF Y

65. RS LU mswg&@mm esien
 HowoQan HociRn whigw, wod, HRA.

1) @S Dy

2) g sdeRed

3) CRMBEF Sryried

4) Bom I BYO PR



SAT(K1 0o l|Illlllllllll|I|Ill|||llllllllllllllllllllllllllllllll

~with regarding Child Adoiescent Labour
_ Prohlbltlon and Regulatlon Act.

_ & No children below 14 years shall be
employed in any se_ctor for any reasons.

- b. As perthis Act, children between the age

of 15 and1 B argconsidered as Adolescent

chﬂdren

c. Accordingtothe Article 14 of this Act, afine
: _ofrupeessoOODandZyearsmprisonment-“_

-is Imposed on viotators.
d. If children below 14 years are engaged

in any household activities, the parentsl'

and the head of the family is declared as
offenders. . o

" 1) aandbonly 2) a,b,candd

3) ab and ¢ only - 4} candd only

. 67 Arrange the following Acts in Chronological

order.
a. Clvit Rights Prozection Act.
~b. Unitouchability Crime Act

c. Child Adolesoent Labour Prohibitlon and

Regulation Act.
d. Protection of Children from Sexual
Offences Act. :
1) a,b,c,d 2 b,a0d,
3) bad¢c _ 4) ¢,bda

68. "Culture is that complex whole which

Includes knowledge, bellef, art, rules

- and regulations, traditions and any other -

capabilities earned by the human being as
a member of soc Iety"' it was defined by
1) Mafinowski '
'2) E.B, Tylor
* 3) Max Weber
4) Emile Durkheim

- 66. Choosé th-e correct group of answér 1 66 IRUTRFE, BORICHRTT R wdé P

Sh33 dopogrs. wodA - :doz:o@»al :laom:d
emzdrl':l THoXRy, WOAL.

a. &ﬁoﬁno& T 14 zdais‘:&wnsl oSa‘a?é):Sc
- ey osnaﬂ;de Seg:leb whRRESY,
‘b, 81 molosn 15 oors 18 SRrdaeng
. Shydr:, BOBEHBT[ Kot Beeb3d.

c. 8 afaosadsas Wowen 140 @wS hyvsy
_maaao:b@ RiBAGFSOR 2 BRed
',,.'3533 a%o: aﬂ:s:. gR.. 50,000 35# sor

DPRCIHER.
d. 14 ﬁwrm#fm mwm ) ad@ai:@

aoﬁ§ a&gﬂmodd ﬁ:#;é Sod a‘eoﬁo (L catmpy

_&awou :3@ wa‘c‘e@ﬁ%ﬂ:mﬂ

S1) add®y bms..- 2)a, b,c-aﬁ:@i_)pd..

3) a,b;Saéoc AR 4) cﬁa&:d.m‘a@

67 8 wns woig)ﬁﬁi'b a‘amﬁ: ﬁd@ zéma,e
a. =enog saam:z odim woody
- 8P 33 esﬁuaqsm* mad)
¢ mOnMFE, BoBtehand wHa: :-:Scsa
- Axeq 53:3: aniao_;a w0l

.O"_

- d: done sETERYT Yy OEme meh
Nabed 2 bacd
3) badec . 4 c,b da

68, " SRRE BRRET Y AEATN MeAtRE
- eE, sowd, Ud, Redrish, RRAD, Xowmed
=Ty w¥S dRPHe WRPERY: By

SARNYEY BrOLHT woHTRY :io&mr-

- Fede xex 8" aoab mmammsd:
1) IROJRETY
2) 2.0, o
3) WxET Wewo® - |
4) HNO BYHEST
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'69. Choose the correct option relating to

untouchability Crime Act.
A. The Government of India has implemented
‘this Actin 1955, o

B. This Act was renamed as ‘Civil Rights

Protection Act’ in 1976.

C. Accordlng to thls Act, practlce of
untouchabillty is a crime. '

D. This Act consisted of certaiﬁ mistakes
which were amended Ié‘ter.

1) Aand B

2) B and C

3) B,Cand D

4) AB,CandD

70. In Column ‘A’ the works and in Column ‘B’

their authors are given. C\hoose' the correct

matching. _ )
Column-A_ . Column -8B
a Buddhaand i G.S.Ghruye
his Dhamma . _ '
b. Indian Salnts  i. Iravati Karve

c. Institutions and lii. A. R. Desal|
Relationship

d. Indian rurai iv. C, Parvathamma
Sociology -

v. Dr. B.R. Ambedkar

NV
2) i Wi oW v
W owv.ov i
4 v i i i
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69. wgﬂeﬁézsa wIoegny ol ZowoRa ﬁagiﬁd :
wodohy, GO
A 8 aaoS:oi:sSa 1955 99 zpad:g :ﬁﬁas“da;s;
zaabﬁ:w,qﬁ
| B. B15chobs, 1976 09 'wios S Rodre
| - el 200 SRmrth RO KT,
€. % mohoh IwT ‘o333 ewdﬁo&o
mzEr STRPIRNG.
D. & odohd sudpomd d@caﬁﬁbcaﬁﬁ@dg},
FPYNTR, IWMIR TREoWND.
1) AR B -
2) Bava C
3) B,Cabady D
4) A, B,CR D

70, A’ TeHO IR Hdy ‘B’ HeiohQ 3
w  DeRoend, wyndsy, Bechy, Rookes
Lozt eoh, TR,

=Yg -A [y - B
a. 1o T wIF 1 BT, FHede
)

b, RUdtcd RPA® il oS wE
- c. Xogrnied 23 fii.- .4T°, ThezRol

oy |
d. O30 minerd iv. A agaa’r#abg
snnmen
é .
V. I®. RET. woe:kq::f
a b c d - '
) ov il H v
2y i il W v
3y i v v i
4 v o0



SAT(K-10)

‘POLITICAL SCIENCE AND ECONOMICS

71. Which of the following statement/statements
isfare not correct related to the President of
. India ? -
~a. appoint the Governors to the Siates

'b. addresses the joint session of both the
Houses of Parliament

'-c, appoint the Chief Ministers of the States |
ood nominates 12 members to the Rajya '

Sabha
Choices : : ) :
1) aandconly - 2} bandd only
3) conly 4) aonly

'72. The President of India may declare ‘National '

Emergency’
a. External aggression
-b. internal disturbances
¢. Natural disasters

"~ d. Financial crises
Choices: -~
1}y aandbonly - |
3) candd only

2) b and ¢ only
4y aand conly

7. Identify the correct chronological sequence

in which among the following became'

Secretary Generals of UNO.
i. Antonio Guterres ii. U. Thant
ili. Kofi Annan - . iv. Boutros Ghali

Choices: -
1) i, 2) i, iv, i, |
3) il b, i, it 4) iv, i, i, it

-74. Choose the correct sequence to indicate the
. foliowing statements as True (T) or False (F).
a, RTlis an implisd Fundamentai Right

b. RTIhas been included in Article 19(1) of
the Con stltution

_ ¢. RTl came Into force on October 12 2005
. Choices :
1) FFF

.. 3) FFT -

2) 71T -
“4) FTT

24
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cazwa a'bss wﬁs'mﬁ

71. 1088 oo aﬁéﬂ@ﬁ ﬁouo@»do@ =5 %@nﬁ

oSsad Bevd/Zevind TS 7.
a. a;smﬁ cazaﬁme:dai: ﬂcabﬁ mzsas'ed

b. Box3s evylod ITInY 23083 w@dcaﬁaﬁd@ :

zg'eadta RS, -
c. uaz:ari@ abaaaéa:o Jiclsb ﬁcabs NI,
d. caz;h,njﬁ 12 :noa ?Jd%déa mda;)deﬁfai

Brees. -
wodeh ! , _ R
”namgcm% 2) bahey dsSng
3) cBRF - 4) am»g,

72 5P0BT CONWINGS B SUNT oI

Rowyrd “c”a%cos:; BoForH0Y 3030y
mwmua:mnd ?

a. mas Sl el

b. esos_as nognd -

c. aS INEE QJdRens

. d a@fﬁ as»mg
e:soS:rMo o o _
1) amsa bR™I 2) b=od cww3,
3) cmre‘o d 393, 4) amB VNG

73. a%ﬁoﬂc& mae-eaaosas'd&rzf%n PODF
Arlaly & i#na’ﬁd ﬂmm#maﬁm

oz,
‘1. wotinepoln nuldzt li o.‘m moss“
lil, dnege wmaEt v, Pdaxt WO
__45033&71#3: S Lo
1) i, i, 0, iv L2y vy il
3) iit, lv,l i 4) v, i, 0l

74. 3 3¢S ﬁc@%ﬁe#a ®o (T). wa (F) Q0w

eREEhd ecdrional, wob, ma _
“a. RTI woth Bnawd moms ﬁnﬂncs

b. oGRS 19(1) B¢ DOCHY AT chay,

Yedxewwn,
.. RTIodn w&rgcam‘ 12 2005 bod mbﬂ
WODB, :
sodn .
1) FFF 2) TIT
. 3 FFT~ 4y FTT
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75. Read the fol_ipwing statements and select

the correct option.
Assertion {A) : Directive Principles are
enshrined in the Constitution for the

Government Administréﬁon.

ﬁeason (R) : People can question in the court. |

for not implementing Directive Prmclples
1) Alis false but Ris true
2) Risfalse but Alis true

3) AandRare true and Ris correct explanation
of A '

4) A and R are true but R is"not correct "

explanation of A
76. Indicators involved in Human Deve!opment
index (HDI}
1) Natlonal Income, Emp!oymenl Rate and
* ‘Sex Ratio _
2) Per Capita Income, Life Expectancy and

literacy Rate of Women

3) _Life Expectancy, Lite_ra'cy Attain_r_nent and

Purchasiﬂg Power of Peopié

4) National income, Purdhasing power of

. People and Sex Ratio

77. identily the correct statement from the
foliowing.

1) As the ||teracy ot people increases, birth

rate also increases
'2) As the literacy of pecple increases, birth
rate decreases

~ 3) As the literacy of people decreases birth

rate also decreases

4) There is no relation between literacy of

people and birth rate

25
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75. &1 ¥¥AT ﬁtﬁ?imﬁm L Rale) 33:3: Edelob ol
- wodyndsy, woR.

| Yo (A): Xmros unesm oo el
v, BoNTREY YogesDRwRN,
A@EFS (R) : oo, ATerFE TN,
ORRPIRR Y WHEN molnUoREY
THVLTTRAS,
1) AT T3 RZO
2) Rz sad AZO
3) AmH3 RaSEA RO DB R, AT ROIRT
| ORTBERATS
4) Azbd RoOE® 30 8BS R, AS 00T
DETFBedPAY
76. IRST epFQ et (HDI) LYRsoRDS
Rawotrdornd

1) odyoD wtmod, wdamne HRwe B8
DO

2) wac:@o:b Q0eFE BeDTIH HE) Do
'agdéodo (o]

3) R0eE3 ReDTHHG, WITIH ey Ty
5I0 dPRR B

4) Togyeoh BTROR, BIT AOWT TY D)
Domzhand

77 é& SEATINSY "aoiwd Feodobhsy, hohdL.

1) =3T bFrem Wy BupBod IS ﬁm@

%mrb@d

2) asﬁd 83000 aim Hp3od &saﬁﬁ o.@baeag

s&immécﬁ
3) ST dYron Wi} ﬁaaﬁaoﬁacﬂoé RID
Ly 3asoiRmEd |
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78,

79.

- Defieit, _
©A Primary Dificit (

B;_ '. Flavenue Deﬂclt

Consider the foliowmg aspects of Fiscal

Deficit Payment

_ Total Total )
\Revenue;~ Expendlture J

- Reference to the above
1) ‘A’ is correct, ‘B’ is not correct

2) ‘B’ s correct, ‘A’ is not correct -
3) Both ‘A’ and ‘B’ are correct

. 4) Both ‘A ahd B 'are not correct

ASPGCtS of MOHEY Slllﬁphar Concepts are |

- given below

a. Currency Notes
b. Coins

e Savings_dé'p.o'sit;s' in Post Office
d. Time/term deposits of Commercial Banks
~ The Groipwhich classifies the above aspects

as ‘Narrow’ and ‘Broad’ Money respectwely

Ty band¢,d-

80.
" below. 'Identify the correctly matched ones.

A Work pamcipatlcn rate i

‘D, 0~14 years children o v,

©3). _A_
4 Aii, B

8. People Iivmg in vﬁlages i,

2) a,candb, d '-
3) a,dandbc .
4) b, d anda, ¢ -

Statistics r:el_a_téd' to 2011 census are given

List-A. List-B

30.7%
65.46%
30.8% |

68.8%

C. Female meracy rate © i

Chmces .

~i¥, B—iii, G, D~
2) A —iii, B=1iv] C—u D-—-I e
—.w._B—-u,- ‘C=1i, D—iii
“iv, C=l, D=

26
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1) ‘A'Z0, B ¥,

2) ‘BRo, A3Fy

3) ‘A 3y ‘B’ aS@EH KO

AN DY B osEe Y,

79.

Reors spgged Tosgon wosmem m R
Dedenntl. - R .

a. arsa ahaew:i#: o
b. aateﬁﬁeéa

¢ ol delsocd memos:. é’tairénesb

- 80,

4 b, d aiién'a,
20112 zzdmaaﬁ souo@,,as w3 soBRvRy,
Ty - ‘A’ b DY —BOHO dend. O, _
. Raomritoenn rhomRy, rbd:én B
L mg-A C®ey - B
A eufwmmnmm e 307%_.__ o
B R meAS FRre ¢ 0l 65.46%
| C. shiow wYCEcd ZEieto i, 39.8%

d. meézsﬂ moéﬁ@d&d abaws: 6@&52&@:

8 hedRHRY, SOmE’ Dy Ve’ BT
' D%&ﬁ Zéoan r{:ow; gﬁ:mh I
1y.ab ad®oed oo

2) a,¢ mgib,d -
3 ad BbC

D, 0-14 s g9 B . ook

ey
1) A=

" 3) A~

v, B-—m C—1 .D"'—"ii o
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86.

87.

88.

in the figure a semicircle with centre ‘O’ is
drawn on AB. If |ABP = 60° then the ratio of
larger to smaller shaded region is
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2n-243

2) 4n—3J§
3n-33

4n-343
2n-33
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The value of ‘C’ if [g, 14] is the mid point

of the line joining the points (-3, 8) and
(-15, 20) is :§§32
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‘86. If I m and n are zeroes of the polynomlal

t(x) 2 + 5x* + Bx + 10 then the value of

1°1 1
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) -2 Imn 2 -3
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97. The perlmeters of similar triangles AABG.
and A DEF are 60 cm and 36 cm respectively.

|f BC 18 cm then measure of EF is
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4) 8cm

1) 1.08.cm
3)' 10 8 cm
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